B X|5}F=XEH(F3B) : SB-27|& X|Lf= 7| X

e 1xXEY X|SHFXHE (F3B)

o 1XEGE 40 t/m
2) X|dtz=A

o HEAFS SB-2

o N 41

e HEH ¢ 1.85  t/m’
3) 7| EZxEA

®B-= 75 m  (1EE

® Df = 19 m (ZYZHo)

oy = 1.9 m  (for 7|£E)

= Xot=2| BEZ

oy = 1.00 m  (for 7|£E)

®q-= 1.30 CI1E=E YA F)

2. 7| £X| ko] X|X|2 M

2.1 Terzaghi2| X|X|HJ 4

jra §
1) HESH

2) MEHT
® = 1.30
®cC= 1.85
oN. = 360
3) AlLtE D
® Qult =
°

2.2 MeyerhofQ| X|X| 34|

~

Q ult

']) M OAl
oo

a= 1.30
®cC= 1.85
eN. = 292
®F.= 159
®F. = 130
®F,= 130

A4zt
® Qult =
°

t/m (7(-1 XFF.EI‘)
183.24

t/m’

| (Joseph E. Bowles)

og o
0z
RV

0x 0x

X

02 o2

—

22596 t/m’

ol odd AE

o 5|8t 25 mm

e X|X|& EIES

® X|5t=2| = : 0 m

o ROt Zlo 29.6

oL-= 7.5 m (7I=Z0])

op = 00 °  (XIEEAY

oV, = 19 m (for 2YAO|)

oy, = 1 m  (for 20|

op= 0.40 ES= R Z D)
'Ytl’B’Nr+Yt2 Df'Nq

op= 0.40 HES= R Z D)

e Df = 1.9 m (2o

eN = 187

(HABXIXIE, Fs = 388)

®p= 040  (ZI1ZEAAS)
e D= 1.9 m (ZYHO0
oN = 146

®F,= 109 (HoA=)
oF,= 104 (LOA)
®F, = 104 (HOA=)

SHEX[XE,

)

:a.C.NC.ch'ch'Fci+B"Yt1'B'Nr.Frs'Frd.Fri+’Yt2'Df'Nq'Fqs .qu .Fqi

7.5

17.6
1.00
1.00
1.00

m  (IEF)

m

Pt
2

(BAA =)
(BAHAI)
(BAA =)



2.3 Hansen?| X|X|HZ A (20 EFA|

jra §
1) HESH

Q, =0a-c-Ncs,-d

)

c 'ic 'gc 'bc +B"Yt1 'B'Nr.sr 'dr 'ir 'gr.br+Yt2 'Df 'Nq'sq 'dq 'iq 'gq b

q
2) HEH=T
e = 130 (lxgaA =) op= 040  (ZI1="HEA)
oc= 185  t/m (&) ® Df = 19 m (ZYZHo) eB= 75  m  (7IxEF)
oN = 292 oN = 141 eN,= 176
®s = 16 (EaAR) @s = 060 (AR es, = 157 (&A=
ed = 110 (HO|A ) ed = 100 (ZOA=) ed, = 114  (HOA)
®i = 100  (BAHAF) o= 100 (A=) i = 100 (BAAS)
eg = 1.00  (KIEHA=) ®g = 1.00  (RKIgtA =) eg, = 1.00 (XEHA=)
eb = 1.00  (HHZAAZ) eb = 100 (KHZAAS ob,= 100 (HEZAAS)
3) AlstAnt
® Qult = 209.01  t/m’
° (SI18XIX[, Fs = 388)
3. 7| &= X|uke| Hotk A
3.1 HEGEA 0 o Mol HE (Schmertmann &Hartman(1978))
1) HESH
, I
S= Cl ) C2 ) (q _q) ' Z (EZ) Az HEREAs |
o = B Nl I =0.5+O.}‘j@
A - | el [l Ll
e C, =7|x2 2YAolof th3t E-A===1-05[q/(q-9)] T . 8
® C, = 29| Creep0f CiE BFA4 3 1 —
=1+02log [tx20(), t =4 2 ZB o il ﬁH }_{v_,&dm
o q = EXY ; B ety
® q=7|EXME FuYMIE I A o s
oz = HEAYHS 0z 1)
o - B~ N — yur|2
e Az = EXO| £ a4 07 4312 7|ZENY U2 RIS 2R
2) HEd=+
eB-= 7.5 m (7IEE) oL-= 7.5 m (7I=Z0]) oD;= 1.9 m (2o
eq= 342 ym (IZNY R2AXS) eg = 400 tm (XY
e C = 0.95 =1-05[q9/(q'-9)] e C, = 1.46 =1+ 0.2 log [10 x 20('H)]
3) HE A= Ay
® St50| oot Hatai #e| MF Z(fo)
Z(fo) = 1500 =[2+ 0222 (L/B-1)] x B, 1 <L/B<10 1}
® 7| =HtEo M 2] HEFA = I(zo)
I(zo) = 010 =01+ 00111 (L/B-1)
o I HAGEAH = HE Z(fp)
Z(fp) = 375  =[05 + 00555 (L/B-1) ] x B
o Z|0f HEAEA 4 7t
I(zp) = 0.50



o HAASA| ¢ MY
EX FROM TO AZ E Iz S(I/E)*AZ
S2tEN>300[ 0.000 3.750 3.750 12500 0.3000 0.0000900
S2EN>30 3.750 3.990 0.240 12500 0.4947 0.0000095
2As 3.990 9.000 5.010 29400 0.3780 0.0000644
saegs 9.000 15.000 6.000 29400 0.1333 0.0000272
)2 0.0001911
0.00 0.10 0.20 0.30 0.40 0.50 0.60
; ==
4 \\\
6
8
/
10
12 ///
14 =
16 ~ -
HE A A T(12)
4) AlLtZ Dt
[ J
4. X X3 2 HShE @A
e YA}
M2 S XX HotE g E(mm)
21| Terzaghi | Meyerhof | Hansen A EH 5t e Schmertmann A EH Hote ="
RS} A R
(F38) 61.08 75.32 69.67 61.08 40.00 OK! 9.70 9.70 25.00 oK!




